Assume two rides with respective Normalized Power and duration t

Ridel NPy, ty

Ride 2 NPZ, 15

The combination of the two yields a ride with
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Starting from the TSS formula and letting the exponents as variable, we have
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where multiplication factors 3600 and 100 are left out (they can be included in the units of £).
If we want additivity, we need to have
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Solving this for the general case (all sets of NPy, NP>, t;, t2) is what we want. But it should be
true for all specific case, so let’s take a corner case, NP, =0, which leads to
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Inserting this into the general case
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which is of the form (a + b)Y = a¥ + b¥ and only true for y = 1.
In conclusion,
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